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a) 

Description Apportion basis 
Total 
cost 

Production 
department 

Service 
Department 

P1 P2 S1 S2 

Overhead cost Apportioned 83,300 33,500 27,300 15,000 7,500 

S1 55%-45% - 8,250 6,750 (15,000) 

 S2 50%-50% - 3,750 3,750 

 

(7,500) 

Total cost 

 

83,300 45,500 37,800 - - 

 

 

b) 

  

Production department 

 
 

P1 P2 

Total overhead cost 01 45,500 37,800 

Machine Hours 02 35,000 27,000 

Absorption rate per hours 01/02 1.30 per machine hour RS. 1.40 per machine hour 

 

 



Total earnings of 

 

A (Rs.) 

 

B (Rs.) 

No. of hours worked 

 

40.00 

 

40.00 

Hourly rate 

 

150.00 

 

150.00 

Earnings 40*150 6,000.00 40*150 6,000.00 

Actual output 

 

5,000.00 

 

4,800.00 

Target Expected output 120*40 4,800.00 120*40 4,800.00 

Excess out put / Additional units 

 

200.00 

 

- 

Incentive @ 6/- on excess 

 

1,200.00 

 

- 

Total Earnings 

 

7,200.00 

 

6,000.00 

(05 marks) 
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Total 
cost 

Production 
department 

Service 
Department 

P1 P2 S1 S2 

Overhead cost Apportioned 83,300 33,500 27,300 15,000 7,500 

S1 55%-45% - 8,250 6,750 (15,000) 

 S2 50%-50% - 3,750 3,750 

 

(7,500) 

Total cost 

 

83,300 45,500 37,800 - - 

 

 

b) 

  

Production department 

 
 

P1 P2 

Total overhead cost 01 45,500 37,800 

Machine Hours 02 35,000 27,000 

Absorption rate per hours 01/02 1.30 per machine hour RS. 1.40 per machine hour 

 

 



  

Rs. Rs. 

Profit as per financial accounts 

  

306,000 

Add: 

   Overstated depreciation 

 

5,000 

 Provision for Income Tax 

 

32,000 37,000 

 
   

    Less: 

   Understated opening stock 

 

20,000 

 Overstated closing stock 

 

5,000 

 Understated overhead 

 

25,000 (50,000) 

Profit as per cost accounts 

  

293,000 

 

(05 marks) 





 

 

Leather PLC 

Income statement for the month ended 30/06/2017 

Under Absorption Costing 

 

 

Rs. Rs. 

Sales 1,800 units * Rs.300/- 

 

540,000 

(-) Cost of Sales 

   Opening stock 300 units * Rs158/- 47,400 

 Production cost W1 2,000 units * Rs158/- 316,000 

 (-) Closing stock 500 units * Rs158/- (79,000) 

 
   

(284,400) 

Under / over absorption of OH W2 

  

(4,000) 

Gross profit 

  

251,600 

Admin expenses 

 

40,000 

 Distribution expenses 

 

86,000 (126,000) 

Net Profit 

  

125,600. 

 

W1 - Production cost 

 

Rs. 

D. Material 

 

70.00 

D. Labour 

 

40.00 

Variable OH 

 

20.00 

Fixed OH Rs.50,400/1,800 28.00 

  

158.00 

   W2 - Over/ Under OH absorption 

  Actual overhead 

 

(60,000.00) 

OH Absorbed Rs28/- * 2,000 units 56,000.00 

Under absorbed OH 

 

(4,000.00) 

 

(10 marks) 



a) 

 

Cost of Job - A111  Rs.  

Direct material 2,000Kg*20 

 

40,000 

 

 

5,000Kg*10 

 

50,000 90,000.00 

     Direct Labours  Department 1 200h@Rs.100/- 20,000 

 

 

Department 2 500h@Rs.50/- 25,000 45,000.00 

     Overhead Department 1 200h@Rs.100/- 20,000 

 

 

Department 2 500h@Rs.40/- 20,000 40,000.00 

     Production cost 175,000.00 

(06 marks) 

 

b) 

 It may be costly and time consuming to install and keep upto date Standard Costing System. 

 Inefficient staff is incapable of operating this system. 

 Since it is difficult to set correct standards, it is difficult to ascertain correct variances. 

 Industries which are subject to frequent changes need constant revisions of standards. 

Revisions may be more expensive.  

 For small concerns, it is expensive. 

 Standard costing may not be effective in industries which deal with non-standardized 

products or job according to customer’s requirements. 

(04 marks) 
(Total 10 marks) 



A)  a) 

Statement of Production Cost Evaluation 

 

 Material X  Introduced material Labour and OH 

Grand 
Total 

Equival
ent 

Units 
Unit 
Cost Total 

Equiva
lent 

Units 
Unit 
Cost Total 

Equiva
lent 

Units 
Unit 
Cost Total 

Output 16,000 25 400,000 16,000 10 160,000 16,000 19 304,000 864,000 

Abnormal 
loss 575 25 14,375 575 10 5,750 575 19 10,925 31,050 

Closing WIP 1,000 25 25,000 750 10 7,500 750 19 14,250 46,750 

   

439,375 

  

173,250 

  

329,175 941,800 

 

 

Workings 

  

W1- Statement of Equivalent Units 

  

 Total 
Qty 
Kgs 

Material X Introduced material Labour and OH 

 

Degree of 
Completion 

Equiva
lent 

Units 

Degree of 
Completi

on 
Equivale
nt Units 

Degree of 
Completi

on 
Equivale
nt Units 

Opening stock - 

      Output 16,000 100% 16,000 100% 16,000 100% 16,000 

Normal loss 5% of 
input 925 

 

- 

 

- 

  Abnormal loss 575 100% 575 100% 575 100% 575 

Closing WIP 1,000 100% 1,000 75% 750 75% 750 

Total input 18,500 

 

17,575 

 

17,325 

 

17,325 

 

W2- Computation of unit 
cost Material X 

Introduced 
material 

Labour 
and OH Total 

Cost of Input 444,000 173,250 329,175 946,425 

Sale of NL as scrap units 
@5/- per unit (4,625) - - (4,625) 

Net  cost of input 439,375 173,250 329,175 941,800 

Expected Equivalent Units 17,575 17,325 17,325 

 Cost of unit produced 25 10 19 54 

 



b) 

Process Y Account 
Description Units Value Description Units Value 

Material from P X 18,500 444,000 Output to FG 16,000 864,000 

Material introduced - 173,250 Normal loss 925 4,625 

Labour and Overhead - 329,175 Abnormal loss 575 31,050 

      WIP C/F 1,000 46,750 

  18,500 946,425 

 

18,500 946,425 

WIP B/F 1,000 46,750 

   
 

(15 marks) 

Workings 
B) 

a)    Sales budget 

 

Denims Jackets 

Budgeted Sales Rs. 17,500,000 16,500,000 

Budgeted Price Rs. 3,500 5,500 

Budgeted sales units 5,000 3,000 
 

b)     Production budget 

 

Denim Jacket 

Budgeted sales units 5,000 3,000 

(+) Closing Stock 1,500 500 

Total requirement 6,500 3,500 

(-) Opening stock (200) (1,410) 

Budgeted production units 6,300 2,090 
 

c) 

  

Denim 

 

Jacket Total 

Fabric 1 4*6,300 25,200 3*2,090 6,270 31,470 

Fabric 2 0.5*6,300 3,150 2*2,090 4,180 7,330 

 

(10 marks) 
(Total 25 marks) 
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